THSFIR1H

BETERYBLLTW S ERIEESRUXESE

<IE%E & > TSRS (BE5A) RS i (B5A)
BRE 450| | ERT—7 220
od=L 720 | | R T—Ta@neaim) 185
STIEZ 4,200 |E=HxR 1104
ShifE 1,680 |BHERAN(/YIR) 160
AKBEE1—X 2,860 | |RvF+R 440H
EENHL (21.5cmET) 2,860 | |RyFF Xt 110
BB (22cmbD) 3,940H| | XRT714voDY 10g 130M
EH 7450 | |[RT14voDY 21g 250
RHDEFANILDEER) 110M| |’ < DY 1104
=2H|YBAYYIR 4208 [3>/8x 440M| |
Bl a—kJvoR 605 | |7ER 110M
Foa—)ILINAIVUI R 7158 | |=AEHR 200M
SR ILHIN— 2,300 | | EzS 140
ER AN ST T) 5,500M| [ZEEA 4L 150
Ay F MY 4 X) 1,760 | | FEEGEA KB - 75 - %) 160
ATy T (LY 4 X) 1,900 | |##E (208 AY) 160
<XE> F 4K (1004 AY) 420M
IR/ —h (B AY) 200[]| [EEAE-E %880
SOR=DEBE SoR=h (SRS 200 | |Z2 B8 T&= 2508
F 18RS —b Ty R B) Smm IR 240 | |BqEELAE 250
F 1SR/ — M Ty riin ) 2101 |=+ 380H]
$nE 60H| |BfaE(126) 1,100
A=§nE 100 |/svEIL(126) 670M
K-EE-REEINE 80| |/ vt (166) 860H
R—=URoF vy T (F-F) 90F| |#cE 200350 490M
R—IR/9ORK (F-F) 110H] IO EW28)t2yb #yFa—Tgi2m 1,500
R— LRI KB B GR-B) 90H| [l E128)tyk szx—+372—T& 850
20033 (FF) 240M | iz E(& ) 90M ~140MH
203 R L (F-F) 190 | | FHEHTAIOFHA %AV 100
2903 828 (F-F) 110 IN7T3L(1X) 40M
BEAYR—ILR 200 | INTEYV (5F) 40
Ty —iBHAR 130 |E=— /L& =2 110H
HLUO L 6585 110M| | & 110
=fmh 450M

XEBYDLENLSITHNEBRENLET
XRIRAR - RARARD A — LRI - B ALOBRARKIIBRICHYET

XAVWNE, B, BILT Y — BKEMYMNIBEHFBECTHRELTVET i




